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Cuadro 5 (continuación 4)/Table 5 (continued 4)
Chile: tablas abreviadas de mortalidada

 Chile: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.017 0.017  100 000  1 720  98 595 0.982 b 7 040 550 70.4
1 4 0.001 0.004  98 280   367  392 212 0.996 c 6 941 955 70.6
5 5 0.001 0.003  97 912   255  488 923 0.997 6 549 743 66.9

10 5 0.001 0.003  97 657   279  487 587 0.996 6 060 820 62.1
15 5 0.001 0.005  97 378   458  485 744 0.994 5 573 233 57.2
20 5 0.002 0.008  96 920   734  482 765 0.992 5 087 489 52.5
25 5 0.002 0.009  96 186   901  478 678 0.990 4 604 724 47.9
30 5 0.002 0.011  95 285  1 013  473 892 0.988 4 126 046 43.3
35 5 0.003 0.013  94 272  1 236  468 271 0.984 3 652 154 38.7
40 5 0.004 0.018  93 036  1 687  460 965 0.978 3 183 883 34.2
45 5 0.005 0.027  91 350  2 457  450 607 0.966 2 722 918 29.8
50 5 0.008 0.041  88 893  3 641  435 364 0.948 2 272 311 25.6
55 5 0.013 0.063  85 252  5 350  412 887 0.921 1 836 947 21.5
60 5 0.020 0.096  79 903  7 653  380 379 0.881 1 424 059 17.8
65 5 0.031 0.145  72 249  10 457  335 104 0.823 1 043 680 14.4
70 5 0.048 0.215  61 792  13 294  275 726 0.742  708 576 11.5
75 5 0.074 0.312  48 498  15 130  204 666 0.637  432 850 8.9
80 5 0.112 0.437  33 368  14 589  130 367 0.510  228 184 6.8
85 5 0.170 0.585  18 779  10 979  66 446 0.372  97 817 5.2
90 5 0.252 0.733  7 800  5 720  24 699 0.243  31 371 4.0
95 5 0.351 0.847  2 080  1 762  5 996 0.101 d  6 671 3.2

100 ω 0.472 1.000   318   318   675   675 2.1
Mujeres/Females

0 1 0.015 0.014  100 000  1 449  98 787 0.985 b 7 647 696 76.5
1 4 0.001 0.003  98 551   279  393 521 0.997 c 7 548 909 76.6
5 5 0.000 0.002  98 272   196  490 871 0.998 7 155 388 72.8

10 5 0.000 0.002  98 076   166  489 966 0.998 6 664 517 68.0
15 5 0.000 0.002  97 910   187  489 082 0.998 6 174 551 63.1
20 5 0.000 0.002  97 723   237  488 022 0.997 5 685 468 58.2
25 5 0.001 0.003  97 486   296  486 689 0.996 5 197 447 53.3
30 5 0.001 0.004  97 190   404  484 938 0.995 4 710 758 48.5
35 5 0.001 0.006  96 785   602  482 423 0.992 4 225 820 43.7
40 5 0.002 0.010  96 184   923  478 611 0.988 3 743 397 38.9
45 5 0.003 0.015  95 261  1 433  472 721 0.981 3 264 786 34.3
50 5 0.005 0.024  93 828  2 227  463 572 0.969 2 792 064 29.8
55 5 0.008 0.038  91 601  3 443  449 396 0.952 2 328 492 25.4
60 5 0.012 0.060  88 157  5 246  427 674 0.924 1 879 096 21.3
65 5 0.020 0.094  82 912  7 769  395 138 0.881 1 451 423 17.5
70 5 0.032 0.147  75 143  11 059  348 068 0.818 1 056 285 14.1
75 5 0.050 0.223  64 084  14 271  284 743 0.731  708 217 11.1
80 5 0.078 0.328  49 813  16 359  208 167 0.617  423 474 8.5
85 5 0.122 0.464  33 454  15 529  128 447 0.482  215 307 6.4
90 5 0.186 0.619  17 925  11 103  61 869 0.340  86 860 4.8
95 5 0.277 0.768  6 822  5 242  21 006 0.159 d  24 991 3.7

100 ω 0.397 1.000  1 580  1 580  3 985  3 985 2.5

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


